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Q. P. Code: 27584

Time: 3 Hours | ~Marks: 80
1. Question No. 1 is compulsory. | | E
2. Attempt any three questions out of remaining five questions.

3. Figures to the right indicate full marks.
4. Assume suitable data if required and mention it in answer sheet

Solve following
a) Explaln the following decimals in gray code form

1. (42)10 2. (17)10
b) Explain characteristics of logic families
c) State and Prove Demorgan Theorem
d) Convert JK flip flop to T flip flop.

a) What is shift register? Explain any one typ:é of shift reg”ister‘

S apglcations.
gy (10 Marks)

b) Implement the following Boolean functlon usmg 8: 1 olex .

F(A,B,C,D)=5M(0,1,4,5,6,8,10,12 13) (10 Marks)

Q3. a) Explain the Johnson's Counter Des:gn far mltral ' l From initial state explain and
draw all possible states. Lo S (10 Marks)
b) Minimize the followmg expr‘esswn usmg ¢ ne sky technique
(10 Marks)
Q4. a) Design a 2 bit cc;m-pja rator an _d-l.lm_-p g logic g tes (10 Marks)
b) Using Boolean Algebra and De-Meorg
YZ+WXZ+WXYZ +WYZ AR MR _
Slmphfy the expressmn [A 3(C+BR)# A B ]C as much as possible (10 Marks)
b) Desngn BCD Adc (10 Marks)
Qs6. er_te ShOEt not @ (20 Marks)
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